

Ministry of Higher Education, Labour & Skills Development

Scheme: Türkiye Scholarships 2024 **Level:** Master's Degree

Iulaan Number: (IUL)475-Schol/475/2023/246

Offer Countries: Turkey

Qualify Number of Slots: 11

#	Reference No.	Gender	Highest Qualification	Eligible Grades	HD	NO	CR	PP	Fail	Total Points	Total no. of Units	Points Average	Present Work Place / Post	Course Applied	Remarks
1	SCHOL-2024/0121	М	Bachelor of Business in International Business (Honors) / Limkokwing University of Creative Technology / 22.12.2020	27HD 11 DN 0CR 0PP	27	11				206	38	5.42	Maldives Monetary Authority/Assistant Analyst	MSc in Data Science	Nominated
2	SCHOL-2024/0083	F	Bachelor of Civil Engineering (Honors) / UCSI University, Malaysia/ 12.8.2023	35HD 8DN 3CR 3PP	35	8	3	3	0	251	49	5.12	-	Civil Engineering MSc. (English)	Nominated
3	SCHOL-2024/0075	М	Bachelor of Software Engineering (Honors) / Taylor's University, Malaysia / 18.6.2023	14HD 17DN 0CR 0PP	14	17	0	0	0	152	31	4.90	Housing Development Corporation/Assistant Project Officer	MASTER OF SCIENCE PROGRAM IN DATA SCIENCE AND ARTIFICIAL INTELLIGENCE	Nominated
4	SCHOL-2024/0065	F	Bachelor of Shari'ah and Law / Maldives National University "Maldives / 24.4.2021	16HD 13DN 8CR 3PP	16	13	8	3	0	167	40	4.18	Family Court/Court Officer	Master of Arts in International Relations	Nominated
5	SCHOL-2023/0885	М	Bachelor of Shariah and law / Villa college / Maldives / 12.11.2019	7HD 10DN 6CR 0PP	7	10	6	0	0	94	23	4.09	2 2	MA in International Relations and Political Science	Nominated
6	SCHOL-2024/0063	М	Bachelor of Civil Engineering (with Honors) / Maldives National University, Maldives / 1.8.2022	10HD 20DN 4CR 4PP	10	20	4	4	0	152	38	4.00	Housing Development Coorporation/Assistant Site Engineer	Environmental Engineering	Nominated
7	SCHOL-2024/0041	F	Bachelor of Arts and Social Sciences	4HD 16DN 6CR 0PP	4	16	6	0	0	100	26	3.85	Maldivian Red Crescent /Programme Officer - Disaster Risk Management	Master of Arts in Social Policy	Nominated
8	SCHOL-2024/0001	F	Bachelor of Shariah and Law / Villa College/ 25. 12. 2023	7HD 7DN 9CR 0PP	7	7	9	0	0	88	23	3.83	-	The Sea and Maritime Law	Nominated
9	SCHOL-2024/0024	М	Bachelor of Information Technology (Software Design and Development)	4HD 10DN 2CR 5PP	4	10	2	5	0	73	21	3.48	Aasandha Company Pvt Ltd/Assistant Developer	Graduate Program in Business Information Systems	Nominated

10	SCHOL-2023/0870	F	Bachelor of Business Administration/MI college/ Maldives / 11.11.2022	8HD 2DN 6CR 6PP	8	2	6	6	0	74	22	3.36	-	HEALTH CARE MANAGEMENT	Nominated
11	SCHOL-2024/0080	F	Bachelor of Human Resource Management / Maldives National University, Maldives / 25.9.2022	2HD 11DN 10CR 0PP	2	11	10	0	0	76	23	3.30	Employment Tribunal/Assistant Administrative Officer	MA in Business Administration (Thesis/English)	Nominated
12	SCHOL-2024/0017	M	Bachelors of Human Resource Management	3HD 9DN 10CR 1PP	3	9	10	1	0	75	23	3.26	Kulhudhuffushi Regional Hospital/Assistant Customer Service Officer	Master of International Affairs and Public Policy	
13	SCHOL-2023/0878	F	Bachelor of Arts in Architectural Design / MNU / Maldives /10.4.2019	4HD 11DN 8CR 7PP	4	11	8	7	0	91	30	3.03	Epoch Associates Pvt Ltd/Architect	M.Sc. in Architecture	
14	SCHOL-2024/0061	F	Bachelor of Accounting and Finance / Maldives National University, Maldives / 26.4.2023	2HD 10DN 6CR 6PP	2	10	6	6	0	70	24	2.92	-	Masters of Business Administration	
15	SCHOL-2024/0042	F	Bachelor of Economics and Management /Maldives National University, Maldives / 9.3.2022	1HD 9DN 7CR 7PP	1	9	7	7	0	63	24	2.63	Bank of Maldives /Payments and settlement assistant	Masters in Islamic economics and Finance	
16	SCHOL-2024/0053	F	Bachelor of Arts in Business Management with Marketing / University of the West of England, Bristol / UK / 28.6.2021	0HD 8DN 9CR 6PP	0	8	9	6	0	56	23	2.43	MILLION BOOKSHOP/MARKETING OFFICER	MS in International Management	
17	SCHOL-2024/0012	F	Bachelor of International Tourism Management / MNU / Maldives / 26.4.2023	1HD 6DN 7CR 10PP	1	6	7	10	0	54	24	2.25	-	Tourism Management	
18	SCHOL-2023/0883	F	Bachelor of Environmental Management / MNU / Maldives / 10.4.201	0HD 6DN 8CR 10PP	0	6	8	10	0	50	24	2.08	STELCO/Senior Auditor	MASTER OF SCIENCE PROGRAM IN ENVIRONMENTAL SCIENCES (WITH THESIS	
19	SCHOL-2024/0051	F	Bachelor of Accounting and Finance /Maldives National University,Maldives / 26.4.2023	0HD 5DN 11CR 8PP	0	5	11	8	0	50	24	2.08	-	Masters of Business Administration	
20	SCHOL-2024/0092	F	Bachelor of Arts in Business Management with Marketing / University of the West of England, Bristol / UK / 24.9.2020	0HD 1DN 5CR 17PP	0	1	5	17	0	31	23	1.35	Agro National Corporation/Ministry of Economic Development/Assistant Marketing Manager/Comms	M.Sc. with Thesis in International Relations	
21	SCHOL-2024/0068	F	ACCA Professional Level / ACCA, UK,/ April 2016	0HD 0DN 0CR P14	0	0	0	14	0	14	14	1.00	Maldives Monetary Authority/Deputy Manager	Information Systems M.S.	

2:	SCHOL-2024/0009	М	Bachelors of Arts in Accounting & Finance/ University of Kent / UK / 16.7.2018	6HD 12DN 4CR 2PP	6	12	4	2	0	94	24	Maldives Monetary Authority/Deputy Manager	MSc in Big Data and Business Analytics	Student withdrawn from the scholarship (15.02.2024)
2:	SCHOL-2024/0067	F	Bachelor of Shari'ah and Law (with Honors) / Maldives National University ,Maldives / 24.4.2021	9HD 16DN 13CR 2PP	9	16	13	2	0	146	40	Ministry of Gender, Family & Social Services/Admin Officer	Public Law Master's Degree Program (Thesis)	Student withdrawn from the scholarship (18.02.2024)
2.	SCHOL-2024/0018	F	Bachelor of Accounting and Finance/ MNU / Maldives / 24.4.2021									B.Maalhos Council/Finance Officer	Business Management for Business Manager	Student withdrawn from the scholarship (10.01.2024)

Disqualify

#	Reference No.	Gender	Highest Qualification	Eligible Grades	HD	DN	CR	PP	Fail	Total Points	Total no. of Units	Points Average	Present Work Place / Post	Course Applied	Remarks
1	SCHOL-2024/0054	F	Bachelor of Medicine and Surgery / University of Science and Technology Chittagong / 15.10.2019	,	-	-	-	-	-	-	-		IGMH/Medical officer	Masters in Dermatology	* Age above 30 years * Applied course is related to health field
2	SCHOL-2024/0062	F	Bachelor of Business Administration / Lovely Professional University / India / 14.8.2020	1	-	-	-	-	-	-	-		Avid college/Lecturer	Artificial Intelligence and Data Science	* Expired ID card copy submitted
3	SCHOL-2024/0070	F	Masters of Law / Maldives National University/ Maldives / 6.10.2021	,	-	-	-	-	-	•	-	,	-	LLM in Human Rights Law	*Student have already done Master's Degree
4	SCHOL-2024/0082	М	ATHE Level 7 Extended Diploma in Strategic Management / ATHE / 24.4.2020	-	-	-	-	-	-	-	-	-	Ministry of Education/Procuement Specialist	MSc in Economics	*Bachelor's degree certificate not submitted * Expired ID card copy submitted
5	SCHOL-2024/0115	F	Bachelor of Arts in Business Management with Marketing / University of the West of England / UK / 24.1.2022	-	-	-	-	-	-	-	-	,	Kanbalifaru Development Pvt Ltd/Admin and HR officer	Master's Degree in Business Administration	* Bachelor's degree certificate is not validated by MQA
6	SCHOL-2024/0116	F	-		-	-	-	-	-	-	-	,	Maldives Pension Administration Office/Assistant Procurement Officer	Social Policy (SPL) Master of Science	* Bachelor degree certificate is not submitted * Course completion letter from the university is not submitted
7	SCHOL-2024/0117	F	Bachelor of Business in Entrepreneurship (Honors) / Limkokwing University of Creative Technology / 19.8.2023	-	-	-	-	-	-	-	-	,	-	M.A. PROGRAM IN LINGUISTICS	* Bachelor degree certificate is not validated by MQA *Did not submit official work experience letters after highest qualification or Own letter mentioning the reason for not submitting *Did not submit student or guarantor letter agreeing to repay the loan during scholarship duration
8	SCHOL-2023/0853	М	Bachelor of Science (Computer Science)/ UWE / Malaysia / 17.5.2022	-	-	-	-	-	-	-	-	-		MASTER OF SCIENCE PROGRAM IN DATA SCIENCE AND ARTIFICIAL INTELLIGENCE	* Bachelor's degree certificate is not validated by MQA
9	SCHOL-2023/0859	М	Bachelor of Business Administration with Hon/ OUM / Malaysia / 4.4.2019	-	-	-	-	-	-	-	-	-	State Electrical Company Limited/Deputy Manager	Master's Degree in Management and Organization	*Age Above 30 years

10	SCHOL-2023/0862	F -	-	-	-	-	-	-		-	1	-	MBBS	* Bachelor's degree certificate not submitted * Applied to a bachelor's degree level course * Applied course is related to health field
11	SCHOL-2023/0863	M Bachelor of International Hospitality Management / MNU / 25.9.2022	-	-	-	1	-	-				-	Tourism Management	*Did not submit official work experience letters after highest qualification or Own letter mentioning the reason for not submitting
12	SCHOL-2023/0866	M Bachelor's of Business (Honours) in Banking & Finance	-	-	-	-	-	-	,	-		,	Masters in Business Administration (MBA)	* Did not submit student or guarantor letter agreeing to repay the loan during scholarship duration
13	SCHOL-2023/0887	F Bachelor of Business Administration / Avid College / Maldives / 2023	-	-	-	-	-	-	,	-	-	Bank of Maldives/Recovery Advisor	MBA	*Did not submit official work experience letters after highest qualification or Own letter mentioning the reason for not submitting
14	SCHOL-2024/0002	F Diploma in criminal Investigation	-	-	-	-	-	-		-			Applied Psychology, thesis master's program (formal education)	*Applied course is related to health field
15	SCHOL-2024/0023	M Bachelor of Arts / Jawaharlal Nehru University / India / 21.9.2020		-	-	1	-	-	,	-	-		Political Science and International Relation	*Bachelor's degree certificate is not validated by MQA